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2019-2020 Examination D
Notice
1 You must take the exam either in English or Japanese.
2 The English is an approximate translation of the Japanese, not a direct translation.
3 There are three problems from 1 to 3, printed in English on pages (p11~18).
4 The examination is 30 minutes long.
5 You must not read the problems aloud.
6 You must be sure to clearly write all of the answers on the answer sheet. Only
submit the answer sheet after the examination.
7 When you rewrite an answer, be sure to completely erase what you have written,
then write your new answer
8 Be absolutely sure to enter your examination number on the bottom right of both

pages of the answer sheet.
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Examination D

English Version
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During the period for integrated studies at school, the class researched

characteristics of their town. Taro's group and Hanako's group investigated the town's

characteristics at Points A, Point B, and Point C shown on Resource 1.

Answer the problems below from 1 to 5. Note the following. Hanako's group spends 15
minutes investigating each location. Also, the speed at which each group moves is
constant. The groups only spend time either moving from one location to the next or

investigating a given location.

Taro and Hanako's groups made the schedules shown in Resource 2. Taro's group took a
clockwise route from the school to Point A, then to Point B, and after that Point C before
returning to school. Hanako's group did the opposite for their investigation and left the school

to go to Point C, Point B and then Point A in that order before returning to school.

Problem 1  What is the speed, in meters per second, that Hanko's group traveled from

Point A to school? Write the answer with numerals.
Problem 2  On their way back to school, Hanako’s group schedule fell into a puddle and
it can no longer be read. What time was written on Hanako’s group schedule

next to “Leave School”?

Problem 3  During their investigations, Taro's group and Hanko's group crossed paths.

What time did the two groups cross paths?

Resource 1: Route taken by the 2 groups Resource 2: Time table followed by the 2 groups

B8
Taro’s Group Schedule Hanako's Group Schedule

Leave School 9 :20 Leave School
Arrive at point A 9 :50 Arrive at point C
Leave point A 10:00 Leave point C
Arrive at point B 10:48 Arrive at point B
Leave point B 10:58 Leave point B
Arrive at point C 11:28 Arrive at point A
Leave point C 11:38 Leave point A

an o a5

2. 4 km _.EI 1; %12 Arrive at school 11:53 Arrive at school 11 :44
. School
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Problem 4

Resource 3: Taro's Sketch

Taro found a layered geological formation that continued for about 100
meters in length at Point B. He drew a sketch of the formation. Taro's
sketch can be seen in Resource 3. There is one layer of sand with fossilized
shellfish, which teaches him that the area was once ocean. Write a possible

reason that the layer containing fossilized shells was visible above ground.

Soil

Soil

Gravel

Sand with

fossilized shellfish

Problem 5

Hanako's group had the following conversation with town hall staff about

Resource 4, which they received at the town hall at Point A. Write the

number that belongs in the ( ).

Staff:

[Conversation between Hanako and staff at the town hall]
The land in this town can be divided into 7 categories. Rice paddies, other
farming fields, residential areas, lakes and marshes, forests, wild fields, and

other.

known for agriculture, isn't it?
Staff:
characteristics of the town.

Hanako: I guess so. The town is ()% rice paddies.

Hanako: There are many rice paddies and other kinds of farm land. The town is well

That's right. There are especially a lot of rice paddies. It's one of the

Resource 4: Town's area by use (km?2)

] Other ) ] Lakes )
Rice Residential Wild
) farm and Forests ] Other Total
paddies ) areas fields
fields marshes
17.2 10.4 3.2 0.1 0.2 0.3 8.6 40.0
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his house.

Hanako has to research the theme “Regional Industry” for her summer vacation project.
She has decided to research Toyama Prefecture, where her uncle lives. Now she i1s visiting

Answer the problems from 1 to 4 below.

[Conversation between Hanako and her uncle)

Hanako: Toyama Prefecture is famous for tulips, isn't it?

Uncle: Yes. Toyama Prefecture produces tulip bulbs, cut tulips and other tulip
related products.

Hanako: About how much of these products does Toyama produce?

Uncle: Toyama primarily produces tulip bulbs, but it comes to about 52% of the tulip
bulbs produced in all of the country.

Hanako: Are cut tulips also a well-known product?

Uncle: Not as famous as the tulip bulbs. But, Toyama produces about 2% of the
country's cut tulips. Niigata Prefecture is well known for cut tulips. They
produce about 33% of the cut tulips for the country. Oh, and I'm sure that
Saitama Prefecture is also famous for cut tulips.

Hanako: Yes, it is. Saitama ranks second in cut tulip production. They produce about
24% of the country's cut tulips. But in Saitama, there is almost no production
of tulip bulbs.

Uncle: You're right. Toyama and Niigata combined produce nearly 98% of all of the
tulip bulbs in the country.

Problem 1  Based on her conversation, Hanako summarized the production of tulip bulbs

and cut tulips into circle graphs. Which of the following pairs of graphs show the
correct graphs made by Hanako. Choose one answer from A to D. Write the letter
on the answer sheet.

A Tulip Bulbs Cut Tulips B Tulip Bulbs Cut Tulips
Other e Other “
‘ Niigata Niigata
Toyama Toyama
Toyama @ Saitama~™

Other

Tulip Bulbs Cut Tulips D Tulip Bulbs Cut Tulips

Other ¢‘
B ‘ Toyama Niigata
Niigata | Toyama Toyama
Niigata (@ Toyama @

(Based on Statistical Report on Production, Ministry of Agriculture. Forestry and Fisheries)
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Problem 2: Hanako's uncle produces tulip bulbs and taught her that one of the steps is

“flower picking”.

Which part of Resource 1 (from A to D) does “flower picking”

fit? Answer with the appropriate letter on the answer sheet.

Resource 1: One year of tulip bulb production

Period Main Step
Fall oPlanting bulbs
!
9 A |
l
oLand Grading x Land grading is the process of creating slopes in
ditches so that rainwater drains from the plot.
oApplication of pesticide
!
9 B |
l
oSprouting x Sprouting is the appearance of new stems or leaves.
!
9 C |
l
oBulb harvest x Bulb harvest is the process of digging up and collecting
v ! bulbs.
oDrying and shipping
Summer !
o‘ D ‘

(Based on the Toyama Tulip Homepage, Toyama Prefecture)
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Problem 3 Hanako thought it was interesting that flower picking was a part of the bulb
production process and imagined the 4 situations shown in Resource 2. Which of
the 4 situations will lead to the most growth of bulbs? Choose one answer from A
to D and answer with the letter on the answer sheet. Next, write the reason for

your choice in the space provided. Note that the starting size of each of the 4 bulbs
1s the same.

Resource 2: The 4 situations Hanako thought of

@ Both leaves and flowers are present. @ Only the flower has been picked.
o ‘5'/;.1

LY

e

Only the leaves have been picked. [D| Both the flowers and leaves have been picked.

(¥
L(f )

Problem 4  Looking at the work done to raise tulip bulbs, Hanako remembered the song
Tulip and started to write it out in musical notation like that shown in Resource
3. Which musical note fits into the O on the sheet music Hanako wrote

(Resource 3)? Choose one from A to F and answer with the letter on the answer
sheet.

I R

Resource 3: Sheet music written by Hanako

Convenience on the Copyright Act can't carry it.

15



Hanako, whose older sister is studying abroad in Brazil, is interested in it. As a result,

she has decided to research Brazil in her integrated studies class.

Answer problems 1 and 2 below.

Hanako:

Sister:

Hanako:

Sister:

Hanako:

Sister:

[Conversation between Hanako and her sister on an international phone call]

Last night at 9 o'clock there was a live broadcast from Brazil, but it wasn't
night, was it?

That's right. Brazil is on the other side of the Earth from Japan, so in
comparison there is a 12-hour difference in time from where I'm living now.
Oh, is that true? Now, I'm researching Brazil for class. I hope you can teach me
about Brazil if there is something I don't understand.

Of course. But don't call at this time, please. I'm usually asleep at this time.

If that's that case, tell me when is a better time to call. I will call when it won't
be a bother to you.

Right. In Brazil time I sleep at about 11 p.m. and I get up at 6 in the morning.
But, from 7:30 a.m. to 4 p.m. I go to school and won't be home, so take care
when you call.

Problem 1 Based on the contents of the [Conversation between Hanako and her sister on

an international phone call] , can you tell the time in Japanese time that Hanako
called her sister? Choose the best answer from A to D and write the letter on the
answer sheet.

A 6:30 am. B 10:30 a.m.

C 4:30 p.m. D 9:30p.m.
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Hanako collected documents related to Brazil and made materials for her presentation.

Problem 2: With reference to the contents of [Documents Hanako collected] Resources
1 to 4, select the correct contents from A to F to complete blanks N

in [Presentation documents Hanako Made] .

A is located on the African continent, in the southern hemisphere.

o3

occupies nearly half of the continent of South America.

C the number of people with South American nationalities are second to those with
Asian nationalities among foreigners living in Saitama City.

make up around 70% of those with South American nationalities.

)

E While Brazil both imports and exports automobiles, its exports, in dollars, are
larger.

F Among Brazil's exports, soy brings in the most money, with over 20 billion dollars.

[Presentation documents Hanako Made]

What Kkind of country is Brazil?

1 Location and area
- Brazil is mostly directly behind Japan on the globe, has an area of 8,510,000 km?2,
and | 0] ‘
(The continent on which Brazil is found has an area of 17,840,000 km2.)

2 Relation to Japanese people

- The first immigrants from Japan arrived in 1908.

- Around 250,000 Japanese people immigrated to Brazil before and after the war.

- Until now up to 6 generations of Japanese descendants have been born in Brazil.
With around 1,600,000 people, it is the largest communities of Japanese
descendants in the world.

3 Relation to Saitama City

- Many Brazilians now live in Saitama City and | o

4 Agricultural products
- Brazil is the world leader in sugar, coffee and poultry exports.
- Japan imports many agricultural products from Brazil.

5 Trade (2016)
| E |
- Brazil had a trade surplus in 2016.
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[Documents Hanako collected)
Resource 1: World Map

Resource 2: Number of foreign residents living in Saitama City (by area)

Total

Asia

North America

South America

Africa

Europe

Oceania

Other

Number

19,433

17,702

466

462

157

522

100

24

(Resource 2 were made based on the 2016 Saitama City Statistics Report)

Resource 3: Number of foreign residents living in Saitama City (Top 9 countries/areas)

Rank Country/Area Number [Rank Country/Area Number |Rank Country/Area Number
1 China 8,247 4 | Vietnam 1,545 7 | Thailand 347
2 | Korea/North Korea 3,417 5 | Taiwan 364 8 | Brazil 321
3 | The Philippines 1,943 6 | America 348 9 | Pakistan 276

(Resource 3 were made based on the 2016 Saitama City Statistics Report)

Resource 4: Brazilian Trade (2016)

Export 185.2 Billion US Dollars
Soy, 10.4%

Sugar, 5.6%
Crude oil, 5.4%

4.3%

Tron/Steel, 4.4% Medical Products, 5.2%

Import 137.6 Billion US Dollars

Machi ,
Machinery, 8.1% azc8 IOI})ZI‘Y
Other, Other, 40.3% :
45.6% Meat, 7.5%
Automobile,
7.2%
Iron ore, 7.2% Plastic, ’
3.5% Organic
Compounds,
Automobile, 5.8% GK.)O%
Chemical Fertiliser,
Petroleum

Products, 5.5%

(Created based on Yano Tsuneta Kinenkai, State of World Countries 2018/19)

This is the end of the examination.
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